# **CONSOLIDATED FORM**

# Management and Related Person's Trading Securities - Art. 11 - CVM Resolution n° 44/2021

In July 2024

- ( ) pursuant to Article 11 of CVM Resolution 44/2021, the following transactions with securities and derivatives occurred.
- (  $\bf X$  ) pursuant to Article 11 of CVM Resolution 44/2021, there were **no transactions** with securities and derivatives.

Company's name: Brisanet Participações S.A.									
		• •							
Group and related persons			(X) Controllers	() Board of Directors	() Executive Officers	() Fiscal Council	() Technical or Consulting Bodies		
Initial Balance									
Sacriminias/Davirranirras			Socurit	ies Characte	rictics	() Technical or Council Consulting			
Securities/Derivatives			Securit	ies Characte	istics	Qu			
Shares		ON		354,851,220					
Transactions in the referred month									
Securities/ Derivatives	Securities Characteristics	Broker	Operation	Day	Quantity	Price			
Shares	-	-	-	-	-	-	-		
			Final Balar	ice					
Securities/Derivatives		Securities Characteristics		Quantity					
Shares		ON			354,851,220				

This is a free English translation of the CVM Resolution 44 Form (Former CVM 358)

# **CONSOLIDATED FORM**

# Management and Related Person's Trading Securities - Art. 11 – CVM Resolution n° 44/2021

In July 2024

- (  $\mathbf{X}$  ) pursuant to Article 11 of CVM Resolution 44/2021, the following transactions with securities and derivatives occurred.
- ( ) pursuant to Article 11 of CVM Resolution 44/2021, there were **no transactions** with securities and derivatives.

Company's name: Brisanet Participações S.A.								
Group and related persons			() Controllers	(X) Board of Directors	() Executive Officers	() Fiscal Council	() Technical or Consulting Bodies	
Initial Balance								
Securities/Derivatives			Securities Characteristics			Quantity		
Shares			ON			553,628		
Transactions in the referred month								
Securities/ Derivatives	Securities Characteristics	Broker	Operation	Day	Quantity	Price	Volume (R\$)	
Shares	ON	Ágora	Buy	2	4,300	3.96000	17,028.00	
Shares	ON	Ágora	Sell	2	4,300	4.02000	17,286.00	
Shares	ON	Ágora	Buy	8	2,500	4.12000	10,300.00	
Shares	ON	Ágora	Sell	8	42,500	4.136	175,763.00	
Shares	ON	Ágora	Buy	9	20,000	4.12000	82,400.00	
Shares	ON	Ágora	Sell	9	20,000	4.15000	83,000.00	
Shares	ON	Ágora	Buy	15	28,500.00	4.3561	124,148.85	
Shares	ON	Ágora	Sell	15	28,500	4.3314	123,444.90	
Shares	ON	Ágora	Buy	17	15,700	4.4486	69,843.02	
Shares	ON	Ágora	Sell	17	15,700	4.5140	70,869.80	

Final Balance						
Securities/Derivatives	Securities Characteristics	Quantity				
Shares	ON	513,628				

This is a free English translation of the CVM Resolution 44 Form (Former CVM 358)

# **CONSOLIDATED FORM**

# Management and Related Person's Trading Securities - Art. 11 - CVM Resolution n° 44/2021

In July 2024

- ( ) pursuant to Article 11 of CVM Resolution 44/2021, the following transactions with securities and derivatives occurred.
- (  $\bf X$  ) pursuant to Article 11 of CVM Resolution 44/2021, there were **no transactions** with securities and derivatives.

Company's name: Brisanet Participações S.A.								
Group and related persons	() Controllers	() Board of Directors	(X) Executive Officers	() Fiscal Council	() Technical or Consulting Bodies			
Initial Balance								
Securities/Derivatives	Securities Characteristics			Quantity				
Shares	ON			5,000				
Transportions in the referred mounth								
Transactions in the referred month								
Securities/ Derivatives	Operation	Day	Quantity	Price	Volume (R\$)			
Final Balance								
Securities/Derivatives	Securities Characteristics		Quantity					
Shares	ON <b>5,000</b>							

This is a free English translation of the CVM Resolution 44 Form (Former CVM 358)